TEXAS A&M UNIVERSITY MATHEMATICS
' I' College of Arts Math 142 - Spring 2024
. & Sciences Week in Review 2: 1.3, 1.4

WEEK-IN-REVIEW 1 (1.3, 1.4)

Problem 1. Answer the following questions based on the graph of f(x) below:

(1) Use the definition of continuity to show that f is continuous at(z = —2.
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Problem 2. Find the Domain of the following functions and use that information to determine
where the function is not continuous.

(1) State the Rules of Domains

@J No Aivision ‘oa e
P L) i [ , azevem , R 2O
i cL) 340 ]Ga (DC%D 5 % >0

,_(095( Numemhf @
Mw«\n ’l"\”\réfr @
@7 8 pRmst
@ f@)=—Fm 5%

=, B2
O o0dd ol © Y >EBx +6 =
NIV a\lowo 20 C‘X-*Q.)) CX'"?—D =R

il g - - R#E 2
D C\_. 06 2“) v (2,2)V (3 oCJ X9 ,

9 _L_____L.e: >0
o =N A
(<) (s 9o PRPR NP IS >@2 gz - % (J
—
(3) flz) = Var—2 X = 3

T 622 + & — 30 /"” ey r
O o+ x-30 =°
}QL% R — [%D =0

(D enew vvolb
Pdr-2 2°
DR 2 e e
25 [Cx+ 2))Cx — S01°°

© i e R
o = s s k=3
i ' } . —
‘/—f —_—t \ =28 ]
~0Q — k. | : (2 ST W . gy \
> 0 Q %/P) o | 'T,\ 3 e r) U L comill /1
1> ) D Ly = 3 .
o——O— —



B
© € gl ¢ velued
l— @-([om&zq
‘QKPQ‘“'Q’”L’\G-( r.P=>_
(4) f(z) = e
o — > (0

?\\@d&r,&
v+ 1 M&«x%o
A%(S}f(i}—r(aﬁ—m:) ——»M[@"’V\QMH%”F&
Exponent et
@ KAl —'?V\%rb&lrmoj—:o,\y @ qu'.ﬁloxr:_@

pi (~o0,0) v (042 Y (2 ©0)

(6) flay— 22— 12)
@ X-RZP‘D @ Y’A?C*TS HMEMWQL
W./—/_/J@
XS —
— B B RS W
5 - )

g (w,[ooj

le L«
R.M'\Q?_.



Ex:
o~
?M{
. T Ll
(e = Iz + 8)
@ AL x velnes ol @
i
RN SRR s
=8 =X

b C—Q“?)UCq OO)

i dlp — |

&) S = 10w+ 25

CD ’Qolaf\onf\r-«l- — ald X ok -

®

x>4lox+es £9

(x+5)(xt5) #o -

x4 -5

\'%
= s
O&&aﬁ /9)"’:0
2
Vit = 2x — Yz + 10
34—:::2

(9) f=)

o,mLa loole &b exen ot

%o 10 20
X7 —10

yr -0 o)

X= €@
'\’C"]DD
[n Cx+ &) @}Ua*@@
x4 7 0
><> 8
gﬂi? CK*Q)

@Qk.ww V\CDFO )
xt & ¢ 1
x% o

e oy

De (_m(—SJ UC'-SzOOJ



© .
/ﬁ&

Y flx dar | .
(10) f(=) (2 + 12){x + 2) jkf N G_ o0 - ['2:)' U G W2 - 9:)' . EHQF(OOJ
Sl e e | :
© (XJ;(?J (s ) =@ Hnﬁ
\9 \
=t )
K= —\2 ¥
; oo Jogy{r —3) - T
(11) f(z) = RN | e p——0—>
.Q/\l'zﬂ“ AR i 11 1 L { =8
O logtee) O ETT, TR
X452 0 Ro,=° 5
XD -9 Runleded 'H+\S><+§ 7’Z
————— JF_').Q_-'E—E # s
i | I‘)_,‘
be (-5, 08) 0 (16,22 s # (a0P= 12

Problem 3. I'ind any vertical asymptotes and holes for the function
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Problem 4. For what value(s) of z is the piecewise function f(x) given below not continuous?
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Problem 5. Find the value of A so that the piecewise function f(z) given below is continuous.
X ~20 Ax2 21 g
2 o>
x*—x-20 <4 A 5
fy={ x4 = !
A -2 +8 x> -4 —
oHig x X atg £0 (_T_( T
oW
(.
d/\ac/& X = — L‘IL
() <

+ &

>
~) fg(,c@ = A(-4) —2¢
= —b4A — 2¢° <8
= b4A - 28

Rl

L) il lim £60) = (97— (b¢) Tho | Merile
ey (=) T

X% % <20 (iS00S o (309

xee O Ot ><=*’“€
Cov TPG& e be condinuons

— b +b = —4
— Ly = —12-6 =15

A= —IE =
— 6%

0|0




S

Problem 6. Find any holes and asymptotes for the given functions. Use limit notation to de-
scribe infinite and end point behavior.
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Problem 7. Find any horizontal asymptotes for the functions below. If there are none, use limit
notation to describe the end point behavior.
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